HanuwwuTte dyHkuuo dict_wishes(lines), koTopas npyHUMaeT CNMCOK XenaHuit (KaXxaoe xenaHue - def dict wishes (lines) :

3TO CTPOKa, B KOTOPOW NepebiM COBOM UAET UMSA TOT0, Yb€ 3TO XKenaHue), a BO3BpalliaeT Cnosaphb, B list2 = dict ()
KOTOPOM Ko4aMu ABAAKTCA MMEHa, @ 3HaYEHUAMMN CNUCKM XKeNaHUi 3TOro NepCoHaxa. for 1 in range (0, len(lines)):
# print(lines[i])
Ha NPOBEPKY HYXKHO CAATb TONLKO DYHKLMIO, BbI3bIBATh €€ HE HYXKHO. arr = lines[1].split(" ")
key = arr[0]
[Mpumep 1 # print (arr)
1f key not in list2:
Beopn BoiBOA list2[key] = []
lines = ['Crpawuna mosru’', { arr.pop (0)
C’Tpammn? OCTpoid YM', Ctpawuna”™: [ 4 print (arr[0])
'XenesHos_[lposocex ' "mosrun”, vy e
'DopOTHM BEPHYTbHCA ' 1, #print (hvost)
' oMo ' , "Menesruid_fiposocex™: [ 1f hvost not 1in list2[key]:
fopoTw Bn.necre'c TOTC.] Aobpoe cepaue 1ist? [key] ] append (hvost)
result = dict_wishes(lines) 35 .
N — e —— return 1list?2

"BEPHYTLCA Aomoun”,
"emecte ¢ ToTo"

, ] lines = ['Crpaumya mo3rH1',
'Crpamwmiia OCTPBEIM yM',
' KestiesHEIM opocexk '
Mpumep 2 AP
'nobpoe cepnue',
Beog BbiBog 'IopoTM BepHYTbCHA '
lines = ['CTpawuna pacnyraTb ' { 'momon’,
"BOPOH ', "Crpawnna®: [ 'TopoTu BMecTe Cc ToTo']
'Crpawuna nomouys ' "pacnyraTtb BOpOH" : : :
i B B result = dict wishes (lines)
AopoTuK', nomoyb fopoTw . —
' lopOTH NOKOPMUTE flbBa’, 1, print (result)
'AOpOTH NOMOYb APY3bAM', "OopoTu": [
'AOpOTK CNacTu XesyHoB'] "noxopMuTb JlbBa",
result = dict_wishes(lines) "nomoyb Apysbam”,
print(result) "CcnacTtu XesyHoB"
]



